oE B &K% HH (8D B{imm
1 TE#% F12 12
2 | BX F12 12
3 | # F12 1.0
L | KRR F12 1.0
5 | BE Y10 1.0
6 | Hig Y10 1.0
1T | EREE Y10 0.7
8 | BRYAIE Y10 0.7
9 | P .RpR F12,Y10 0.7+1.0
55 70 10 710 79 710 110 710 P9 710 119 710 119 710 55 17 R 2 =
12 | BNz F12 0.6
= B3 | & F12 08
H S 1| iR F12 0.6
A 28 ‘ A 282 ‘ 282 ‘ 1 28 i A 288 ‘ 1 26 ‘ R 282 Al 15 | PyA—FL—k F12 2.3
L I6T e Ter gl 7e1 e 761 gk 761 il 761 Wik 761 ol o F12->5REso» -> Xi@IR(JIS G 3302)
T::::::::% ‘T::::::::% ‘T::::::::% ‘T::::::::? T::::::::% T::::::::% ‘T::::::::? ﬁ m Y10 3REn -S% 7 IV D ABEDo ?3&”‘&(“563317)
| | | | | | | | | | | | | | A
| | | | | | | | | | | | | |
NN (NN NN NN NN NN TN e
\ \ \ \ \ \ %@ﬁmgﬁﬁ[]
v 685 ||y 685 v 685 v 685 | 685 1| 685 ||\ 685 | n
5740
FEE
1670
5840 60 FESMNTIE 1530 80
50 FESNTIESTLD 50 =
’ ij‘ 1000é
i ‘ i‘ i 1] 8
()
D
=
b o
e [ [ ] i [ [ ] =R S
“:'D 0 o o 0 0 0 o N l: N
O
N
=
f
VG.L
(=)
LN
EER BIE

HiE4 NXD—12L—7

OF#BFO~T%E : 685 % 1760(mm)
OFKEH : 8.78m(2.661F)




